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QUESTION 1

If the quality of two BITs clocks is the same, what may happen after a protection switchover of the clock source?
A. The NE fails to trace clocks.

B. Protection switching of clock sources occurs frequently.

C. The NE reports the clock signal loss alarm.

D. Pseudo synchronization occurs.

Correct Answer: D

QUESTION 2

Which of the following are true about an SDH network?

A. The NMS communicates with a gateway NE using the OSPF protocol.

B. NEs communicate with each other over ECCs.

C. ECC communication is implemented by the D byte.

D. The maximum DCC rate is 192 Kbit/s.

E. By default, Huawei OptiX equipment uses DI to D3 bytes for DCC communication. After ASON is

enabled, the D4 to D12 bytes can function as inband control channels to transmit control information for the control
plane.

Correct Answer: BCE

QUESTION 3

Pointer justification is caused by asynchronous clocks on two interconnected NEs. When one NE reports a positive
pointer justification event, the other NE reports a negative pointer justification event.

A. TRUE
B. FALSE

Correct Answer: A

QUESTION 4

When optical fibers are incorrectly connected, lots of pointer justification events will occur. Which of the following
methods can be used to further locate the fault?
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A. Disconnect fibers and shut down lasers.

B. Insert the MS_RDI alarm on the NMS.

C. Observe pointer justification events.

D. Change the J1 byte traced by a higher order path on the NMS.

Correct Answer: ABD

QUESTION 5

Which of the following statements are true about ground resistance?

A. Less than 1 ohm at an integrated telecom building

B. Less than 5 ohms at a common telecom office/site

C. The higher ground resistance is, the better.

D. At an area where soil resistivity is high, the ground resistance can be 10 ohms

Correct Answer. ABD
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